



$$\begin{cases} \mathcal{Z}'_1, \mathcal{A} = \mathcal{U}_h(\mathcal{Z}'_1, \mathcal{A}) & \mathcal{Z}^J = \mathcal{U}_h \mathcal{Z}^J \\ \mathcal{A}'_1, \mathcal{A} = \mathcal{U}_h(\mathcal{A}'_1, \mathcal{A}) & \mathcal{A}^J = \mathcal{U}_h \mathcal{A}^J \end{cases}$$

$$\begin{cases} \mathcal{Z}'_1, \mathcal{A} = \mathcal{Z}'_1(\mathcal{Z}'_1, \mathcal{A}) & \mathcal{Z}^N = \mathcal{Z}'_1 \mathcal{Z}^N \\ \mathcal{A}'_1, \mathcal{A} = \mathcal{A}'_1(\mathcal{Z}'_1, \mathcal{A}) & \mathcal{A}^N = \mathcal{A}'_1 \mathcal{A}^N \end{cases}$$

$$\mathcal{Z}'_1, \mathcal{A} = \begin{cases} \mathcal{Z}'_1(\mathcal{Z}'_1, \mathcal{A}) \\ \mathcal{A}'_1(\mathcal{Z}'_1, \mathcal{A}) \end{cases} : \mathcal{Z}^N = \begin{cases} \mathcal{Z}'_1 \mathcal{Z}^N \\ \mathcal{A}'_1 \mathcal{A}^N \end{cases}$$

$$\begin{cases} \mathcal{Z}'_1, \mathcal{A} = \mathcal{Z}'_1(\mathcal{Z}'_1, \mathcal{A}) = \mathcal{Z}'_1(\mathcal{Z}'_1, \mathcal{A}) & \mathcal{Z}^J = \mathcal{Z}'_1 \mathcal{Z}^J = \mathcal{Z}'_1 \mathcal{Z}^J \\ \mathcal{A}'_1, \mathcal{A} = \mathcal{A}'_1(\mathcal{Z}'_1, \mathcal{A}) = \mathcal{A}'_1(\mathcal{Z}'_1, \mathcal{A}) & \mathcal{A}^J = \mathcal{A}'_1 \mathcal{A}^J = \mathcal{A}'_1 \mathcal{A}^J \end{cases}$$

$$\mathcal{Z}'_1 = \mathcal{Z}'_1 \mathcal{Z}'_1 = \mathcal{Z}'_1 \mathcal{Z}'_1$$

